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BACHELOR’S DEGREE PROGRAM
Term-End Examination,

December 2019

BECE-002: INDIAN ECONOMIC DEVELOPMENT:

ISSUES AND PERSPECTIVES

Time : 3 Hoursl [Maximum Marks : 100

Note : Answer questions from all sections as per instructions

given in each section.

Section - A
(Long Answer Questions)

Answer any two questions from this section in about 500 words
each. 2x20=40

1.

What are the constituents of commercial banking system
in our country? Could the banking reforms in the country
solve the problem of non-monetised economy? 20

What are the long term problems of Indian agricuiture?
To what extent current efforts could solve them? 20

Give a brief evaluation of the New industrial policy of
India. 20

What are the gender issues of development? What has
been the role of 'Self Help Groups' and microfinance in
women empowerment? 20
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Section - B

Answer any four questions from this section in about

250 words each. 4x12=48
5. What are the different measures being adopted to
promote exports, from India? 12
6. What are the different features of services sector in
India? Why has it taken an important position in recent
years? 12
7. What are the main provisions in the 'National Rural
Health Mission (NRHM)' of the country? 12
8. What are the main causes of growth of public
expenditure in India? 12
9. What are the advantages and disadvantages of
interlinking of rivers in the country? 12
10. What is consolidation of agricultural holdings? What are
the problems faced by the officials involved in it? 12
11. Distinguish hetween union finance and local finance.

What are the main sources of revenue of local bodies?
12
Section - C

Answer Both the questions from this section, as directed.

12.

13.

2x6=12

Differentiate between any two parts of the following.

a) Horizontal and vertical fiscal imbalance. 3
b) Plan expenditure and Non-plan expenditure, 3
¢) Share capital and borrowed capital 3

Write short notes on any two of the following.
a) Jan Dhan Yojana and mobilisation of savings. 3
b) Infant industry argument for protection.
¢) Public Private Partnership.
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5.
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13.
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